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1) What is H.C.F and L.C.M of 12, 18 and 20?

Answer Options :

(1) H.C.F2,L.C.M 180 (2) H.C.F 4, L.C.M 150
(3) H.C.F 3, L.C.M 160 (4)H.C.F5,L.C.M 170

1SO 9001-2015

2) What is H.C.F and L.C.M of 16, 32, 36, 48, 56?

Answer Options :
(1) H.C.F 6, L.C.M 2015 (2)H.CF4,L.CM 2016
(3) H.C.F 5, LCM2014/\§4.)\HCF5 L.C.M 2012

3) What is H.C.F and LM of 16, 24, 36| SA/

Answer Options : N\ e
(HH.CF2,LC \ —_ (2) H.C.EA C.M 436
(3) H.C.F 4, L.¢.\-430 N E)) H.C.P@ C.M 435

Aa
WS
4) What is H.C.F[aftd/L.C.M of 23 an

Answer Options 2 |

(1) H.C.F 3, L. 1907 @)yH:C. F% 'C.M 1909 |

(3)H.CF4, L. 08 Eg (4) H. C .C.M 1906 |
5) What is the H.C.F 0£1365, 15%; and 17557 F ‘

|
C.F (3) 193 H.C.F (4) 192 HCF

Answer Options :
(1) 195 H.C.F

6) What is H.C.F and L.C.M of 63 and 105? |
Answer Options : |
(1) H.C.F 21, L.C.M 315 (2)H.C.F22,L.CM 313 !

|
(3) H.C.F 24, L.C.M 314 (4) H.C.F 26, L.C.M 312

7) What is H.C.F of 336, 252 and 322?
Answer Options :

(1) 13H.CF (2) 14 H.C.F (3) 15 H.C.F (4) 16 H.C.F

|
\
|
\
\
8) What is H.C.F of 48, 60 72? |
\

ofiTer aruTéde, WIEe T WER, o H.3, Ui shiedl, aivth-xoo oo3. [N 30 I
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Answer Options :

(1) 12 H.C.F (2) 13 H.C.F (3) I4 H.C.F (4) 15 H.C.F

9) What is H.C.F and L.C.M of 72, 108 and 144?

Answer Options :
(1) H.C.F 36, L.C.M 432 (2) H.C.F 32, L.C.M 434
(3) H.C.F 34, L.C.M 430 (4) H.C.F 36, L.C.M 435

10) What is the L.C.M of 15, 20, 25, 45?
Answer Options :

(1) L.C.M 800 (2) L. I 3) L.C.M 700 (4) L.CM 600
ers the{l\bekr 111.¢.y/is‘how magy times their L.C.M.

11) 12 and 13 are prime nu

Answer Options :

()1

12) 25 and 26 are pti

Answer Options :

OF

13) 10 and 11 are prime

Answer Options :

(1) 108 (4) 110
14) 22 ,2 ,L what is L.C.M and H.C.F ?
15721 ’30
Answer Options :
1 2464 1 2463
1)— H.CF, —— LCM 2)— H.CF,~— LCM
(D570 BEF. =3 ¢ @550 HEF.—3
()= H.CF,2462 [ cM @ L HCF, 24l 1 cMm
230 3 240 3

sfiFTer eruTdtie, gighe TSl TUR, & 4.3, Ui wie, aivte-xoo oo3. [N 40 I
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. 35 42 63
15) What is H.C.F, L.C.M of —, —= ,— ?
) What s ’ 125" 25 55
Answer Options :
7 630 7 620
1)—— H.CF L.CM 2)— H.CF,—— LCM
( )1375 5 ( )1374 > 5
7 610 7 600
3)—L_ H.C.F, LCM 4)—— HCF,2X2 LCM
( )1372 5 ( )1370 5

16) What is H.C.F of4 %, 3 % s 7

Answer Options :

(1)%H.C.F CF (4 %H.C.F

17) What is H.C.F /L.GM of —=; 2= %
Answer Options 3 %
IR MR (21 e S ea| 201 ey
250 - - 251 T T
9O/ 990

(3) 2i53 H.CF 7L.C.M a&q (4)%/\ . L.CM

ot (207 2574855 ]

18) How much is H.C.F, L
12 7 36 ° 40

Answer Options :

5 125 5 130
)= H.CF,~2 LCM ) HCF, - LCM
D360 "4 @340 "4

5 120 5 125
3 HCF-2L LeMm A== H.CF, “2 LCM
()52 HORS (r5g HCF, 2
19) What is H.C.F and L.C.M of 6 % 10% ?
Answer Options :
I 559 | 555
(1) HCF, == LCM ()5 HCF, = LCM
()L HCF, 558 LCM (4)é— H.CF, % LCM

sff Ty TuTete, YR TSRl |HR, & 4.3, Ugia e, Arreh—¥oo ook. [N 41 I
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. 42 54
20) Whatis HC.F, LCMof —,— ?
) Whatis : 257750
Answer Options :
6 377 6 376
1) —H.CF, — L.CM 2)— H.CF,—— L.CM
D 60 © 25 ( )40 © 25
6 375 6 378
— —— L.CM
3) 30 H.C.F; 25 L.CM (459 HCF, >3
21) What is H.C.F and L.C.M of 5% 4 % ?
Answer Options :
mLucr 21 cr B eu

1
3) — H.CF;
3=

22) How much is H

Answer Options :
2
1) — H.C.F
(1) = HCF,

2
3) —— H.C.F
), 3

23) Find the L.C.M of H.C.F of 22.5, 0. .

Answer Options :
(1) H.C.F 0.74, L.C.M 44.00 (2) H.C.F 0.75, L.C.M 45.00

(3) H.C.F0.73,L.C.M 43.00 (4) H.C.F0.76, L.C.M 42.00

24) Find H.C.F, L.C.M of 1.7, 0.51, 0.153.

Answer Options :
(1) H.C.F 0.016, L.C.M 15. 200 (2) H.C.F 0.014, L.C.M 15.100
(3) H.C.F 0.015, L.C.M 15.400 (4) H.C.F 0.017, L.C.M 15.300

sfiFTer eruTdtie, gighe TSl WUR, & 4.3, Ui wie, aivte-xoo oo3. [N 42 I
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25) Find the L.C.M 0f 0.12, 3.6 and 1.08.
Answer Options :

(1) 10.40 L.CM (2)10.60 LCM (3)10.80 LCM (4)10.50 L.C.M

26) Find the L.C.M 0f0.017, 0.119 and 0.136.
Answer Options :

(1)0.952 L.CM (2)0950 LCM (3)0951 LCM (40953 L.CM

27) Find H.C.F and L.C.M 0f 0.05, 0.250, 0.65.
Answer Options :

(1) H.C.F 0.060, L.C.M 3.24 (2) H.C.F 0.050, L.C.M 3.25
(3) H.C.F 0.020, L.C.M,3220 | (4) TRC.F 0.040, L.C.M 3.22
s/

28) What is H.C.F and’L.C.M o0f2.1, 187 _~
Answer Options : o >N Q
(1) H.C.F 0.03, 170.10 27| () H.c.f% L.C.M 150.10

(3) H.C.F 0.02 &M 160.10 )H.C.FO@ L.C.M 180.10
o0 Y oy
29) What is H.C.§ and L.C.M 0£9.9,.0. /
(0 2]

Fl‘ 8: (2) H. ,L.C.M 297

4 iI.C.F .15, L.C.M 296

TR STeheH]
30) What is H.C.F and L.C. 0.6,9.6,0.36 ?
Answer Options :

(1) H.C.F 0.14, L.C.M 27.8 (2) H.C.F 0.13, L.C.M 29.8
(3) H.C.F 0.12, L.C.M 28.8 (4) H.C.F 0.15, L.C.M 26.8

31) What is H.C.F and L.C.M of 0.63, 1.05, 2.1 ?
Answer Options :
(1) H.C.F 0.21, L.C.M 6.30 (2) H.C.F0.23,L.CM 6.10

(3) H.C.F 0.24, L.C.M 6.20 (4) H.C.F 0.25. L.C.M 6.40

32) The product of two numbers is 2160. If H.C.F is 12 what is L.C.M ?
Answer Options :

(1) 140 L.C.M (2) 150 L.C.M (3)160 L.CM  (4) 180 L.C.M
sff Ty TuTte, YR TTESRI |HR, & 4.3, Ugia e, Amreh—¥oo ook. [N 43 I
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33) If product of two numbers is 588 and H.C.F is 7, what is L.C.M?
Answer Options :
(1)83 L.CM (2) 84 L.CM (3) 85 L.C.M (4) 86 L.C.M

34) If product of two numbers is 2700 and H.C.F is 180, what is H.C.F?
Answer Options :
(1) 13 H.C.F (2) 14 H.C.F (3) ISH.C.F (4) 16 H.C.F

35) L.C.M of two numbers is 255 and H.C.F is 1. If the 1st number is 17, what is the

second number?

Answer Options :
(1) 17 14\ \ | //(3)1 4) 16

36) L.C.M of two numpfrs is 693 and 1. Ifthe 1st nuilgber is 77, then what is

the second numbef? CA
Answer Options : Qw OO
(1)99 gi 2)9 (3) 96 o0l @98
—~ N
w | ]
37) Two numbers 4 <and 6 x ha .C. EM96 if x%
Answer Options : % %
(16 G o1 & vs N/ @

38) If 1st number is 3x an
the numbers.
Answer Options :

(1)21 and 35 (2) 22 and 34 (3) 23 and 36 (4) 24 and 37

39) Two numbers 6x and 8x have H.C.F 14 and L.C.M 168 if x = ?

Answer Options :
()8 27 3)6 45

40) Two numbers 7x and 9x have H.C.F 6 and L.C.M 378 then which are the numbers?
Answer Options :

(1) 43, 55 (2) 44, 52 (3) 40, 53 (4) 42, 54

41) If L.C.M is 510 and H.C.F is 34, state the smaller number.

sfiFTer eruTdtie, gighe TSl WUR, & 4.3, Ui wie, aivte-xoo oo3. [N 44 I
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Answer Options :

(1) 102 (2) 103 (3) 104 (4) 100

42) L.C.M and H.C.F of two numbers are 48 and 4 respectively. So tell the smallest

number out of them.

Answer Options :

(1) 13 2) 11 (3) 12 (4) 14

43) L.C.M of two numbers is 2448 and H.C.F is 68 Find the smaller and larger numbers.
Answer Options :

(1) Small =272 , Large > 11 =270, Large = 611
(3) Small =270, Lagge = 610 4) Small 271, Large = 613

44) L.C.M of two s is 495 ani

(s 5 Find the % r and larger numbers.
Answer Options % \‘ N o)

(1) Small = 4 ge = mall = e rge =55
(3) Small =4 %ge = all = rge =57
N

45) L.C.M of two U@ers is 108 and H.C.F 1s 18. Find the @ er and larger numbers.

Answer Options : 0 a
> &

(1) Small = 32, Large = 52 L2 Small =43, Large = 55

(3) Small = 36 Large = 47>|'7‘a'5|'{ \?ﬂm =34 Large = 53

sff Ty TuTeHe, YR TTESHl |HR, & 4.3, U e, Amreh—¥oo ook. [N 45 I
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‘1) The speed of a swimmer is 10 km/h downstream and 6 km/h against the flow. Find |
| the speed of the flow and the speed of the swimmer in still water. |
‘Answer Options : |
(1) 8 km/hr (2) 7 km/hr (3) 9 km/hr (4) 6 km/hr
\

\

|

|

|

|

\

\

|

|

|

h) A sailor goes 15 km upstream and 25 km downstream. It takes 5 hours each time.

| Find the speed of the flow and the speed of the sailor in still water.

Answer Options :

\
\
1) 7 km/h 2)5 h 4) 6 km/h
y()mr ) h\\|//< r (4) 6 km/hr

N\ VI 71 /7
6 km/hdn ;till water and/in a-flow o2 km/h. It takes a total of

r a boatman-to A to B and to A in a river.

|
‘3) A sailor has a speed

. 1 hour 30 minutes

/Answer Options : o
Q
o0
[

alm water and tlri"ép ed of the flow is
e will it take her to travel 68 km dc@ eam?

S Aed A

2) 5 ho - (3 6#our (4) 3 hours

(1) 13 km. 3) 14 km. (4) 11 km.

' 4 km/h. How mu
‘Answer Options :

(1) 4 hours

5) A boat covers a distance of 3 ours 30 minutes and takes
3 hours 456 minutes to cover the same distance upstream. Find the velocity of

the flow.
Answer Options :
(1) 3 km/hr (2) 4 km/hr (3) 5 km/hr (4) 2 km/hr

6) The velocity of flow in a river is 2 km/hr. In this a motor boat travels 6 km upstream
| and returns to the starting point in 33 minutes. What is the speed of a motor boat in

\
‘Answer Options :

(1) 20 km/hr (2) 22 km/hr (3) 23 km/hr (4) 24 km/hr
|

still water?
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7) A boat covers a distance of 24 km downstream in 4 hours and takes 6 hours to cover
the same distance upstream. What is the speed of the boat in still water?

Answer Options :
(1) 3.5 km/hr (2) 5.5 km/hr

(3) 6 km/hr (4) None of these.

8) A boat covers a distance of 8 km downstream in 1 hour and takes 1 hour to cover a

distance of 2 km against the flow. What is the velocity of the flow?
Answer Options :

(1) 2 km/hr (2) 3 km/hr (3) 4 km/hr (4) 5 km/hr

9) Asailor sails 1 km dowpstream, in 5 n1inute n against the flow in 1 hour.
What is the velocity,6f the ﬂol:yx \ / 73

Answer Options :

M6 kmbr /N, )] A 3)3 kﬁa (4) 12 km/hr
e
10) A boat coversfa‘distance of 1 48 phinutes against t w. If the speed of the
flow is 2 km/ gt will be the spee %ﬁoat in still witer
Answer Options | 'Q
(1) 17 km/hr % (2) 15 km/hr 3)13 (4) 2.25 km/hr

11) A motor boat tak ﬁours to coEeia%taIe of 9 km
cover the same distahge uw hw 0

Answer Options :

(1) 3 km/hr (2) 2 km

nstream and 6 hours to
e boat in still water?

(3) 1.5 km/hr (4) 1 km/hr

12) One man can pull three-quarters of a boat against the flow in 15 minutes and another
takes 10 minutes to return, what is the ratio velocity to the flow in still water?

Answer Options :

(1)3:5 2) 5:3 (3)1:5 4) 5:1

13) A motor boat moves at a speed of 36 km/hr in still water. It travels 56 km upstream
in 1 hour 45 minutes. How much time will it take her to cover the same distance in
favor of the flow?

sff Ty TuTte, YR TTESHI |HR, & 4.3, Ugia e, Arreh—¥oo oo. (I3 11
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| Answer Options :
(1) 2 hours 25 minutes (2) 3 hours
‘ (3) 1 hour 24 minutes (4) 2 hours 55 minutes

14) A motor boat moves at a speed of 45 km/hr in still water. If she takes 1 hour 20

| minutes to travel 80 km downstream, how much time will it take her to cover the
same distance upstream?

| Answer Options :

(1) 3 hours (2) 1 hour 20 minutes

(3) 2 hours 40 minutes (4) 2 hours 55 minutes

115) The speed of a stream is 4 .\gsoat travel 6k stream and returns to its
original position in 2 héurs. How u&h in‘e did the boaitake to go upstream?

'Answer Options :

(1) 1 hours

1
3)1 4 hours

|
\

\

\

| =l . .0 .
‘16) The flow of a 11 @ 2 km/h.Jt.takes.twice asanuch.time fora person to swim
|

\

\

\

|

against the flow o %
person in still wate

Answer Options :
(1) 6 km/hr

117) A boat traveling downstream covers a distance of 30 km in 2 hours, but the boat
takes 6 hours to cover the same distance while returning. If the speed of the stream

is half the speed of the boat, what is the speed of the boat?

|Answer Options :
(1) 15 km/hr (2) 5 km/hr
(3) 10 km/hr (4) None of these.

‘18) A person covers a distance of 1 km in 10 minutes in the downstream direction and
" 30 minutes in the upstream direction. What is the velocity of the flow?

| st sTuTétie, IR TS WAR, W 7.3, UL wier, ATE—oo ooz. [N 32HIN
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Answer Options :

(1) 1 km/hr (2) 2 km/hr (3) 4 km/hr (4) 3 km/hr

19) A boat covers a distance of 20 km downstream in 2 hours and upstream covers the
same distance in 5 hours. What is the speed of the boat in still water?

Answer Options :

(1) 2 km/hr (2) 3 km/hr (3) 4 km/hr (4) 5 km/hr

20) A person takes 14 hours to travel a distance of 48 km in a river. It takes 4 km in the
direction of the flow and 3 km agaj ow in the same time. What is the velocity

of the flow?
Answer Options :

(1) 1 km/hr (4) 3.5 km/hr
21) The velocity o g in ariver i ) 2 hours to travel

35 km upstre the starting po otor boat in still water?
Answer Options [o's)

(1) 6 km/hr

-~
(o)

2 /
22) A boat takes 10 to cover ﬁ% km upy\ and 44 km downstream.
The same boat takss 13 hours to r a distance of 40 knfupstream and 55 km

downstream at the sale SW iw oat in still water?

Answer Options :

(1) 3 km/hr (2) 8 km/hr (3) 11 km/hr (4) 12 km/hr

23) A boat covers some distance downstream in 1 hour and same distance upstream in
1% hours. If the speed of the flow is 3 km/hr, what will be the speed of the boat in

still water?

Answer Options :

(1) 12 km/hr (2) 13 km/hr (3) 14 km/hr (4) 15 km/hr

sff Ty TuTte, YR TSRl |HR, & 4.3, Ugia e, Arreh—¥oo oo.  [HINN133
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24) The speed of a boat in still water is 9?km/hr. The time it takes to cover a certain
distance in the direction of the flow, it takes three times the time to cover the same

distance against the flow. What is the velocity of the flow?

Answer Options :

(1) 3 % km/hr. 2) 3% km/hr.
3) 4% km/hr. ) 4%km/hr.

25) To cover a certain distance downstream, a boat takes half the time taken to go

upstream. What is the ratio of in still water to the speed of
the flow?
Answer Options :
(H2:1 4)1:3
26) A boat covers a e distance

downstream in 4 Hodrs. What is the T t d of the Bdafjto the speed of
the flow in still ?

Answer Options :

(H2:1 4)5:3
27) A swimmer can swim'st a ter AT the speed of flow is
1 km/h then it takes 1 hou one place to another place

and back to the starting point. the starting point?

Answer Options :

(1)2.4 km (2)2.5 km (3) 3 km (4) 3.6 km

28) A swimmer covers a distance of % km against the flow in 11% minutes and

returns to the starting point in 7 % minutes. What is the speed of that person in

calm water?
Answer Options :

(1) 2 km/hr (2) 3 km/hr (3) 4 km/hr (4) 5 km/hr

sfiFTer eruTdtie, gighe TSl WUR, & 4.3, Ui wie, avtk—xoo oo3. [N 34 N
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29) The velocity of flow in a river is 4 km/h. A boat travels 6 km upstream from a
certain point and returns to the same point in 2 hours. Find the speed of the boat in
still water and the time taken to go against the flow.

Answer Options :
(1) 8 km/h, 1 hour 30 minutes (2) 9 km/hr, 2 hrs 30 min
(3) 7 km/hr, 3 hrs 30 min (4) 6 km/hr, 4 hrs 30 min

30) A steamer takes the same time to cover 20 km upstream as it takes to cover 50 km
downpstream. If the speed of the flow is 3 km/hr, find the speed of the steamer in
still water.

Answer Options :

(1) 6 km/hr 2)7 l}q«h‘ | / / (3)8km/hr (4) 5 km/hr

31) Assailor takes 1Q/hours to travel 30MMAIpstréam and 44 By downstream in his boat.
It takes 13 hou Mavel 40-km gpstregM and-55-km d ream. So find the

speed of the fl d the speedeGig in still water.
Answer Options { ™
0
(1) 5 km/h, 7 km/h'\ h
(3) 3 km/h, 8k (4) 2 km/ m/h

32) A steamer takes urs to travm from on'e\ rt to another. It takes 5
hours to cover the satne drw reﬁ@lﬁe f flow is 2 km/hr, find the
Tts.

distance between the two

Answer Options :

(1) 80 km (2) 70 km (3) 60 km (4) 50 km

33) A sailor sails 30 km downstream in 3 hours 45 minutes and 15 km against the flow
in 2 hours 30 minutes. So find the speed of the flow and the speed of the boat in
still water.

Answer Options :
(1) 6 km/h, 2 km/h (2) 7 km/h, 1 km/h
(3) 5 km/h, 3 km/h (4) 8 km/h, 4 km/h
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34) A person can swim at a speed of 5 km/hr in still water. To cover a certain distance
downstream It takes three times of time to cover a same distance upstream. So find
the velocity of flow.

Answer Options :

(1) 2.4 km/hr (2) 2.3 km/hr (3) 2.5 km/hr (4) 2.6 km/hr

35) A person takes 10 hours to cover a distance of 21 km from point A to point B against
the river and back to point A. If she takes the same time to cover a distance of 7 km
downstream as it does to cover a distance of 3 km against the flow, find the speed
of the flow and the speed of the boat in still water.

Answer Options :

(1) 2 km/h, 5 km/h 3 km/h," km/h

(3) 4 km/h, 2 km/h RM) 6 km/h, 3 kiy/h
a

36) A swimmer can f \g in still water. IfThd time taken to cover

a certain distanc¢ agdinst the flow is ' aken to @ the same distance
downstream, fin i ! 00
Answer Options : %

(1) 1.6 km/hr
(3) 1.5 km/h

0

37) If Sunil sails at a spee
will be Sunil's speed downs
Answer Options :
(1) 4.25 km/hr (2) 6 km/hr (3) 6.5 km/h (4) 8.5 km/h

38) A boat travels from point A to B in upstream and from B to C in downstream in equal
time. The ratio of distance from place A to B and from place B to C is 5 : 7. If the
boat takes 2 hours 30 minutes to cover a distance of 35 km downstream, what is
the speed of the flow? (in km/h)

Answer Options :

(1) 2 km/hr (2) 1.5 km/hr (3)2.5 km/hr  (4) 2.2 km/hr

sfiFTer eruTdtie, gighe ATEsl WUR, & 4.3, Ui wie, avtk—xoo oo3. [HN136 N
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39) A boat can travel 3.9 km in 13 minutes with favorable flow. If the speed of the flow
is 3 km/h, how much distance (in km) can she cover against the flow in 28 minutes?

Answer Options :

(1)5.8 (2) 5.6 (3) 4.8 (4)6.2

40) The speed of a boat in calm water is 15 km/h and the speed of flow is 3 km/h. The
distance covered by a boat from point A to point B downstream is 24 km more than
the distance covered by the same boat from point B to point C against the flow.

What will be the time taken to travel from C to B in the same time in the direction

Answer Options :

(1) 2 hours
(3) 3 hours 40

41) Aboat has a
goes by boat t
point. The tota

(@)

—
53 ki
%ace located at a dis -5 km andisetyrns to the starting
tung taken bm. ﬁ
Answer Options :
(1) 6 hours 10 miutSs Fl‘ )4 hour inutes
7 &q‘z) 10 hours

(3) 8 hours

AT SR eH]
42) A boat takes a total time o minutes to trayelf km downstream and (x - 5)
upstream. If the difference between the boat's downstream speed and upstream

speed is 3 km/h and the ratio of the boat's still water speed to the flow speed is
9 : 1, then what is the value of x ?

Answer Options :

(1)40.4 (2) 30 (3)20.4 (4) 34.4

1
43) A boat covers a distance of 75 km upstream in 77 hours. The speed of a boat

in still water is five times the speed of the flow. If the speed of the stream is
doubled, how far will it travel downstream in 4 hours?

Answer Options :
(1) 84 (2)70 (3) 64 (4) Different from the given option
sff Ty TuTHe, YR TTESRI |HR, & 4.3, U e, Amreh—¥oo oo. [N 37
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'1) If the ratio of two numbers is 5:7 and their sum is 132, what is the difference

| between the numbers?
| Answer Options :

C(1)55,77 (2) 52,77 (3) 53,77 (4) 54,77
|

‘2) If the ratio of two numbers is 8:3 and their difference is 75, find their sum.

‘Answer Options :

(1) 120, 46 (2) 120, 45 (3) 120, 47 (4) 120, 48

ach number gives the sum

‘3) If the ratio of three numbgefS i :x:\ar{d 70?415; 81
of 99, then state the spfallest nurhber. y
N - L 4
Answer Options :

(1) 16

squares is 45.
Answer Options :

|
\
|
\
\
\
|
(1)9,4

|5) If the ratio of three
| numbers.

/Answer Options :
(1) 20, 8,12 (2) 20,9; (3)20,7,12 (4) 20,6, 12

6) The ratio of two numbers is 3:4. After odding 8 in each number, the ratio of those
numbers becomes 5:6. Find the numbers.

Answer Options :

(1) 14, 16 (2) 16, 17 (3) 12, 16 (4)13, 15

7) The ratio of two numbers is 2:1. If subtracting 4 from each number gives the ratio of
9:4, find the numbers.

Answer Options :

(1) 40, 20 (2) 30, 20 (3) 50, 20 (4) 60, 20
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8) The ratio of two numbers is 8:5. If 8 is added to the larger number and 5 is subtracted
from the smaller number, the larger number becomes twice the smaller number, then
find the number?

Answer Options :

(1) 72, 44 (2) 72, 46 (3) 72, 45 (4) 72, 43

9) The ratio of cost of a chair and a table is 5:7. If the price of one chair is Rs.225, find
the selling price of 3 tables?
Answer Options :

(1) 314 Rs., 945 Rs. (2) 312 Rs., 945 Rs.

(3) 311 Rs., 945 Rs. (@) Rs.315,Rs.945.

10) The ratio of price of oodenlo\g a\'ldl all iyén cupboaxd is 7:3. If the cost of one

bed is Rs.11200. If fo, how much is st of 4-cupboardg? Alternative Answers:
Answer Options :

(1) 4800 Rs., 1
(3) 4500 Rs., 1

11) If the ratio of numbers 1S-8: theirsum is 14& the smaller number.

Answer Options :\ & (Se)

(1)37 0) 2) 36?,"_&‘ (3)34 A (4) 35
12) If the ratio of two n be%ﬁjﬁ‘iﬁ t%ef%i%;m.e isA44, state the larger number.
Answer Options :

(1) 385 )3 (3) 386 (4) 387

13) If the ratio of three numbers is 5:4:6 and 9 is added to each number, their sum is

132, then state the smaller number.
Answer Options :

(1)27 (2) 26 (3) 25 (4) 28

14) If the ratio of two numbers is 8 : 11 and the difference of their squares is 57, then
which number is greater?

Answer Options :

(1) 12 2) 14 (3) 11 (4) 15

sff Ty TuTeHe, YR TTESHI |HR, & 4.3, Ui e, Amreh—¥oo ook. [N 55 I
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15) If the ratio of three numbers is 1:2 :3 and the sum of their squares is 56, find the
larger number.
Answer Options :

|
|
|
|
|
|
|
|
|
|
(8 2)6 (3)7 )5
|
|
|
|
|
|
|
|
|
|
|

16) The ratio of two numbers is 4 : 3. If 10 added to each number, the ratio is 37 : 29,
find the number.
Answer Options :

(1) 64, 48 (2) 65, 46 (3) 66, 45 (4) 63, 44

17) The ratio of two numbers is 4:3. in each number then the ratio is

37 : 29 then find the num . \\ | //
\N Py

Answer Options :

(2)-66, 445 (3) 64, 48

(1) 72,52 (4) 68, 42
| Y £
18) The ratio of two bers is 3:4 Jid8@S added to the small ber and 4 is added
to the larger nu , the ratio of tho§unuphbers is_1:1. So fin@the original number.
. fo]
Answer Options :
-~ o0
(1) 42, 56 (o) (2)42, 55 (3)42, 54 N (4)42,53
=) -
19) The ratio of two n %rs is 5:7. Iiil @ mber and 3 is
subtracted from the Marger n number.
Answer Options :
(1) 42, 63 (4) 45, 63

20) Height ratio of Dheeraj and Dharti is 5:3. If their height difference is 44cm then what
is the height of Dharti?

Answer Options :

(1) 66cm (2) 65cm (3) 64cm (4) 63cm

\
\
|
|
\
|
\
\
|
|
\
|
\
\
|
121) The ratio of marks obtained by Seema and Rani is 2:1. Next year if Seema's marks
. decrease by 50% and Rani's marks increase by 50%, what is the new ratio?
 Answer Options :

o (D)2:4 2)2:3 3)2:5 4)2:6
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22) In a college, the ratio of students from arts to science is 3:5. What is the new ratio
if 50% of Arts students decreose in next year and 25% science students increase

in the some yeor?
Answer Options :

(1)6:24 (2)6:23 (3)6:25 (4)6:22

23) The ratio of two numbers is 8:3. If the larger number is inecreased by 25% and the
smaller number is increased by 50%, what will be the ratio?

Answer Options :

(1)4:3 2)4:5 (3)4:2 4)4:1
24) The ratio of dheeraj and dharti 1ghtsL1 eraj loses weight by 20% and
Dharti gains weight by"25%, wha 1s\th

Answer Options :
(1) Dheeraj and =45
(3) Dheeraj an =4:2 =4:1

25) Which numb uld be swﬂers 9, 5, and 37 so that
these numbers in proportiof.

Answer Options :

(H3 ) 2)4 ﬁa‘q 3)2 /\ 4 1
26) What number should Mroam 51 so that these numbers

are proportional.

Answer Options :

(15 (2)4 33 4) 2

27) Which number should be subtracted from the numbers 4, 8, 11 and 29 so that the
numbers come in proportion.

Answer Options :
(12 (2)3 (34 G

28) Which number should be subtracted from the numbers 11, 19, 14, 25 so that these
numbers come in proportion.

Answer Options :

(H4 (2)4 33 4) 5
sff Ty TuTHe, YR TTESRI |HR, & 4.3, Ui e, Amreh—¥oo ook. [N 57 I
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29) If the sum of two numbers is 60 and their subtraction is 10, then what is the ratio
of those numbers?

Answer Options :

7 6 8 9
ORS @~ Ok 9~

30) If the sum of two numbers is 91 and their difference is 13, find the numbers and
find their ratio.

Answer Options :

(1) 4:2 (2)4:3 (3) 4:5 4) 4:4

31) Ifthe sum of two numberg4

20 and t1eir subtrattign is 90, find the numbers and

\\I/

state their ratio.
Answer Options :

(1) 7:1

Answer Options :

M

a 5
33) If?— E then

Answer Options :

M= 0= 6= @

Answer Options :

3 o2 0 2 @ 3
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/)X =Y oL hen XYFZ _ g
3 4 5
Answer Options :
14 13 12 15
1) — 2) — 3) — 4) —=
(1) ~ @ - 3 OF
a b ¢ atb-c
36)If7=—=—th a ?
Answer Options :
6 8 5 4
1) — 2) — 3) — 4) —
O @ OF “) >

15
4) =
OF
38)%:%50
Answer Options :
-4 -6
1) — 4) =
Ok =
a b
39) —=—=—
) 2 3
Answer Options :
15 13 16 12
1) — 2) — 3) — 4) =
()11 ()11 ()11 ()11
m_n_pP om-ntp _,
W5 =5=7 n
Answer Options :
4 3 6 7
1) — 2) — 3) — 4) —
(1) @)~ (3 OF
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X y X2 +y2
41)?=7S0_(x+y) =7
Answer Options :
37 36 37 35
1) — 2) — 3) — 4) =
O 2 6 33 @)~

Answer Key

Q Q Q Q
1 1 21 31 41
2 12 2 3

3 1 )

4 14 34

5 15

6 16

7 17 37

8 18 28 3

9 ) 9

10 20 40
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1) Average of first consecutive natural numbers starting from 1 up to =

IS0 9001-2015

1"+ last number

2
Answer Options :
(18 29 3)7 (4) 10
2) Average of 1, 2, 3,4, ....26 ?
Answer Options :
(1) 14.5 (2) 135 3) 155 (4)12.5

ings respectively how many runs
should he score in the 4%4 ningiso th+t hi7 innthgs average will be 100?

Answer Options :

(1) 140 2170 (3)172 (4) 160
. ~ = G .
4) A cricketer sco 8, 15, 81 apdzs st 4 inning ectively. How many
runs should h e in the 51 \ at his 5 inning age is 757

Answer Options { 00 N~
1) 108 P, (2) 107 (3) 105 'Q (4) 104
(1) o0 S

=
5) Average sales o keeper f@l 18 Rs.250« average sales for the

first 4 months is R%2125 and the average sales for the neyt 4 months are Rs 2225.
So calculate the averdge SW IW
Answer Options :

(1) 3150 Rs. (2) 3050 Rs (3) 3250 Rs. (4) 3350 Rs.

6) Average sales of a shopkeeper for 10 months is Rs.2250. Average sales for first 3
months Rs. 1800 Average sales for next 4 months Rs 1950 calculate Average sales
for last 3 months ?

Answer Options :
(1) 3000 Rs. (2) 3100 Rs. (3) 3200 Rs. (4) 3500 Rs.

7) Average sales in a week is Rs. 500. The average sales of the first 4 days is Rs. 480
and the average sales of the last 4 days are Rs. 510. then what is the sale for 4t day.
Answer Options :

(1) 460 Rs. (2) 400 Rs. (3) 520 Rs. (4) 500 Rs.
sff Ty TuTte, YR TTESRI |HR, & 4.3, Ui e, Amreh—¥oo ook. [N 61 I
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‘8) The average temperature for a week in the month of May was 43.1°C. If the average

| temperature of the first 3 days was 44.2°C and the average temperature of the last 5
| days was 41°C, find the temperature of the third day?

Answer Options :

(1) 35.9°C (2) 34.9°C (3) 36.9°C (4) 38.9°C

e HUTT TcheH! I

9) Average of first 6 multiples of 5 ?
Answer Options :

(1)16.5 (2)17.5 (3) 14.5 (4)15.5

‘10) What is the average of the first
‘Answer Options :

(1) 15 (4) 14
11) Average of first 5 %ﬁoctors of C;
Answer Options : [~ (o)

(1) 35 ~N (2) 34 0'2 (4) 30

6:7:8:3then the inco ? %
Answer Options : 7 aal /\

(1) 4000 2) 5000 - (3) 6600 (4) 7000
Hehe

13) Average price of three articwm ratio is 3 : 9 : 13 then what 1s

|

|

[

|

|

\

| -~J \ - N .
‘12) Average monthl Wme 0fEW,Xo Y5218 R 5120001 f the r[ﬁs f their income is
[

|

|

\

|

|

the price of the most expensive article?

Answer Options :
(1) 14500 (2) 17500 (3) 18500 (4) 19500

14) There are 600 students in a school. The average age of boys is 12 and the average
age of girls is 11. Average age of all the students in the school is 11 years 9 months
then how many boys and girls in the school?

Answer Options :

(1) Boys 350, Girls = 100 (2) Boys 450, Girls 150
(3) Boys 250, Girls = 160 (4) Boys 550, Girls = 150
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15) A girl accumulated Rs 185 in her savings account in 10 months and the savings
decreased in the next 2 months. If this makes the average for the year 0.50 less than
the average of the first 10 months, how much did she save in the remaining 2 months?

Answer Options :

(1) 34 Rs. (2) 32 Rs. (3) 31 Rs. (4) 30 Rs.

16) There are 35 students in a hostel and the addition of 17 new students increases the
total cost of the mess by Rs.42 per day. However the average cost per student
decreases by 1. So how much was the total cost of mess in the beginning?

Answer Options :

(1) 420 Rs. (2) 32 — (3) 520 Rs. (4) 220 Rs.
17) The average age of alf’the stud@k\s i\l J c{ayés; 158y

s. The average age of the

6 .
4)m= 3 , Boys : Girls =3

18) If Ajay scored 80, 68, 82, 56, 74 in 5 subjects in the exam, what is the average score
of Ajay?

Answer Options :
(1) 72 marks (2) 74 marks (3) 65 marks (4) 80 marks

19) If the average of 4 consecutive even numbers is 45, (1) Which number is the
smallest among them (2) What is the average of the smallest number and the largest
number?

Answer Options :

(1)50 (2) 45 (3) 40 (4) 35
sff Ty TuTHe, YR TTESHI |HR, & 4.3, Ugia e, Amvteh—¥oo ook. [N 63
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‘20) Average of 4 consecutive odd numbers is 42, then what is the difference between
" the smallest and largest number.
Answer Options :

(1)7 (2)4 (3)6 48

21) If the average of 4 consecutive even numbers is 35, then what is the smallest

| number among them?

| Answer Options :

(1) 34 (2) 30 (3) 31 (4) 32
\
22) Average of 5 consecutive even numbers is 47, so what is the largest number among

‘ them?

‘Answer Options : \ /

o (D4l (2)31 A3)61 (4) 51

‘23) If the average of N@secutive eV, sis 10, then gest even number
| ishow many ti smallest ] o

'Answer Options : \l (e

(W4 5l @s

1

24) Average of 5 co ive even numbers 1566, then what is the jum of first and last
| number? a‘ q /(b

Answer Options : &

(1) 134 (4) 130

|

25) If the average of 5 consecutive eve S 1s 36, then the smallest number is
| how many times the largest number?

| Answer Options :

\ 4 . 3 .. 2 . 5 .

| (1) = times (2) 5 times (3)? times (4)? times

|
126) Average of 8 consecutive odd numbers is 14 then (1) How many times the largest
| number is the smallest number. (2) How many times the smallest number is the

. largest number?

‘Answer Options :

| (1) Smaller number - 8, larger number = 20
' (2) Smaller number - 7, Larger number = 21

| sty sTuTétie, IR ATESf WAR, @ 7.3, UL wier, ATE—oo ooz. [N 64 I
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(3) Small number - 10, Large number = 22
(4) Smaller number - 7, Larger number = 23

27) The average of 5 consecutive odd numbers is 35 and the average of the next 5 odd

numbers is 45. What is the average of all those ten numbers.
Answer Options :
(1) 50 (2) 30 (3) 40 (4) 60

28) Out of 60 students who passed an examination, the first 20 students scored an
average of 70% marks. If the last 20 students get 64% average marks and the rest
get 40% average marks, what is the average marks of the total passed students?

Answer Options :

(1)50 % (4) 58 %
29) Out of a total ofAQO students in a ‘ Ethe first 50 s s get an average of 50%
marks and the 1 ing 50 stu dShs 2 average of 4 rks, what is the

average mark §8Gl1 the studd

Answer Options &l | N~
0 0 w 0
(1) 47 % tlﬁo MA% A),\ (4) 40 %

30) Average of 5c utive odd The aver
is 47. What is th page of all bers?
Answer Options :
(1)47 %

X

(4) 40 %

\/

31) Out of 50 students in a class, the average age of 25 students is 15 and if the average
age of the remaining 25 students is the same, what is the average age of the 50
students?

Answer Options :

()15 2) 14 (3)17 (4) 18

32) If the average of the numbers 35, 39, 45, 36 and 4* is 39, then what digit will
replace *.

Answer Options :
(H1 2)2 3)0 4)8

33) If the average of the numbers 32, 37, 41, 43, 48, 5*, 55 is 44, then what digit will be
in place of *.
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Answer Options :
(D1 2)3 (34 42

34) If the average of the numbers 48, 43, 46, 40, 47, 41 and 4* is 44, find the number
if * is replaced by the same digit.
Answer Options :

()3 (2)2 (3)5 48

35) Average of the numbers 48, *4 and 5* is 45. Find the same digit in place of * in
both the numbers.
Answer Options :

(15 Vl\@.)z\ 4)1

Vi

\
36) 73, *5 and 7*. Averagg/of these nanb&rJ vx/il}/be,75 and wat digit will be in place
of *. h 7
Answer Options :

(1) 6 03, 2)8 |2 - (3)9 % 4)7

37) The average ag %0 students in a gass j¢ 14 s. If the @ f the class teacher
is taken, their a ﬂe is 15. Swﬂacherg

Answer Options : Poe) N
(1) 35 years 00 (2) 32 years (3) 30 ye;§° (4) 20 years

38) Average age of 22 p (ﬁe is 40 yeai. E & ag! of one persgh is added to it the
average becomes 42 yeays. W tw\' new person?

Answer Options :

(1) 85 years (2) 86 yea

(3) 84 years (4) 82 years

39) 25 children of average weight 22 kg sat in a boat. If the average weight of all
including Sailor becomes 24 kg, what is the weight of the Sailor?
Answer Options :

(1) 74 kg (2) 76 kg (3) 72 kg (4) 70 kg

40) Amit scored an average of 65 marks in 4 subjects namely Mathematics, Marathi,
Science and History. But the marks obtained in English reduced the average marks
in 5 subjects by 5. So how many marks did you get in English?

Answer Options :

(1) 60 marks (2) 50 marks (3) 30 marks (4) 40 marks
sfiFTer eruTdtie, gighe TSl WUR, & 4.3, Ui wie, aivre-xoo oo3. [N 66 I
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41) If the average age of 40 students in a class is 12.5 years and the average age of all
including the class teacher is 13 years, what is the age of the class teacher?
Answer Options :

(1) 33 years (2) 44 years (3) 22 years (4) 55 years

42) The average age of 60 children in a class is 16.95 years. But if the average age of the
class increases to 17 years due to the arrival of a new student, what is the age of the
new student?

Answer Options :

(1) 40 years (2) 50 years (3) 20 years (4) 30 years

43) Average sales of a shopkee
first 6 months are Rs.4
Answer Options :

(1) 40000/-

44) A shopkeeper goods worliaR

average of Rs [1800 worth of goodsHinthé fi ays. Sodi the remaining 30 days
how much tat lﬁiﬂ goods Aﬂ

Answer Options o
(1) 132000 \E2

2) 1 - 4) 103000/-
o —“eeg Ay -
s of a shopkeeper is'Rs,155. Averagg/sales for Ist 15 days it

45) 30 days average s
T R o TeheE )

Rs.190. So what is theNav
(1) 140/- (2) 120/- (3) 130/- (4) 130/-

Answer Options :

46) The average weekly sales of a salesman is Rs.300. Average sales for 1st 5 days is Rs
320 and average sales for last 3 days is Rs 240. What is the sales on Friday?
Answer Options :

(1) 220 Rs. (2) 210 Rs. (3) 230 Rs. (4) 240 Rs.

47) In a cricket match, average of runs in 30 matches is 50, out of which the average of
first 18 mtches is 30, then what is the average of remaining matches?
Answer Options :

(1) 40 (2) 20 (3) 50 (4) 80
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48) The first 50 students in a class scored an average of 48 marks. The remaining 25
students scored an average of 54. What is the average score of the total students in
the class?

Answer Options :
(1)50 (2) 40 (3) 60 (4)70

Answer Key

(e}

N
)
36

H. :
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-13
(4) —
253

4) 23
20

@) >
35

@) >
4

-115 -114 -113 -116
DI )= (3)—— 4
M 693 693 693 * 693
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119 23 4
I W
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31)9_ +4_5 -9
17 51

sff Ty TuTHe, YR TTESRI |HR, & 4.3, U e, Amreh—¥oo ook. [N 19 I



e RN AheHT

MPSC / UPSC 1y 7887878001/ 7887878002 PSI/ STI/ASO

4 7 6
2) —— 3) — 4y ——
(2 5 3) P “4) s
s 2.2,
16 7 28
I IW e
6 5 7 8
(1) e (2 o 3) e “4) 2

4 ——

(4)-7

9 17 . -119
/) L 2 "«
)13 23 ' 9

It SW
(12 )1 (3)3 (4)4

36) EALE =7
25/26

i I

19 17 18 16
)55 2) Y ) S * =5~

2,
9/49

sfiFTer eruTdtie, gighe TSl WUR, & 4.3, Ui wie, avte-—xoo oo3. [N 20 I



e HA TheHT

MPSC / UPSC 4y 7887878001/ 7887878002 PSI/STI/ASO

7 8 5
2) — — -
() 3 3) 3 (4) 3
NI
18 3 40
It I
42 40 41 43
1 J— - - —_
(1) 0 (2) 0 3) 0 (4) 0

112

(4)-?;
40)5_X£+£
7 25 5
T I
-64 -63
O “ 5
41)7_+AXE_
5 8 18
It W
7 6 5 8
1) — 2) — = 2
(D 5 (2) 5 (3) 5 4) 3
ol 9 19,38 18 92
3 4 2 2 3 144
TR S
32 33 35 34
)= 2) =2 > 2T
(1 n (2) 2 (3) 2 4) 2

sff Ty TuTHe, YR TTESHl HHR, & 4.3, U e, Amreh—¥oo ook. [N 21 I



e RN AheHT

MPSC / UPSC 1y 7887878001/ 7887878002 PSI/ STI/ASO

@ 1=

17
4y —
()140

sfiFTer eruTdtie, gighe TSl TUR, & 4.3, Ui wie, aivte-xoo oo3. [N 22 I



PSI/STI/ASO

N
o
o
<]
~
]
~
[}
]
~
-
(=]
o
]
~
[}
~
(]
]
™~
(&)
(72}
o
=
—
O
(2]
o
=

Answer Key

ERERERRRRT Iz

on
on

N 2:

sff Ty TuTte, YRghe TTESHl OHR, & 4.3, Ugta shiciHl, ATITeh—%00 00R.




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9

